7.3 Day 1 Homework Page 486 #1-6,11-16, 19, 26

Explain why the triangles are similar and write a similarity statement.
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Multi-Step Explain why the triangles are similar and then find each length.
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PRACTICE AND PROBLEM SOLVING
Explain why the triangles are similar and write a similarity statement.
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Multi-Step Explain whythetﬁ gles are similar and then find each length, : :
15. AB 16. 5 APST~ APNW W A"
P
/ /
ACZ s C Wy 6$ 10 T
AkBD ~ AACB AP T
B B x _ %l

DA () ICRRGE
o 1.5%=b0
v _ 4 =%
T X PS=$% /
K =it
X=t ¢



19. Photography The picture shows a
person taking a pinhole photograph
of himself. Light entering the opening
reflects his image on the wall, forming
similar triangles. What is the height
of the image to the nearest tenth of
a foot?

26. Critical Thinking A ABC is not similar to A DEF, and A DEFis not similar
to AXYZ. Could AABC be similar to AXYZ2 Why or why not? Make a sketch to

SUppOrt your answer.
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